
 

 

ÇARPMA İŞLEMİ 3. SINIF MATEMATİK 

1 

 

 

7 VE 8 İLE ÇARPMA İŞLEMİ 

      33        25   40       75 

       7                   7                     7                7 
 

 

                                     90   81   96       33 

       7                    7                    7                7 
 

 

    77         82            66        70     63     55 

     7                 7                7                7       7       7 
 

 

 115        123          106             140   142          139 

    7                  7                7                 7       7       7 
 

 

 

133       125          111             122   141    104 

    7                  7                7                7       7                    7 
 

 

 

109       113          107             138    127        118 

    7                 7                 7                7       7             7 
 

 

  1 X 7 = 7 

  2 X 7 = 14 

  3 X 7 = 21 

  4 X 7 = 28 

  5 X 7 = 35 

  6 X 7 = 42 

  7 X 7 = 49 

  8 X 7 = 56 

  9 X 7 = 63 

 10 X 7 = 70 



 

 

ÇARPMA İŞLEMİ 3. SINIF MATEMATİK 

2 

 

 

                 12        50     25          88 

                        8                8            8      8 
 

 

 

               96             66     91          57 

                             8                8       8      8 
 

 

 

   88               75            40              66     74          93 

     8                 8                 8                8       8      8 
 

 

 

 124              114          122       111   133        120 

     8                 8                8               8       8      8 
 

 

 

  179       108          117       109   123               108 

      8                8                8                8       8      8 
 

 

 

  121        107           105             115    119         116 

     8                 8                 8                8       8      8 
 

 

  1 X 8 = 8 

  2 X 8 = 16 

  3 X 8 = 24 

  4 X 8 = 32 

  5 X 8 = 40 

  6 X 8 = 48 

  7 X 8 = 56 

  8 X 8 = 64 

  9 X 8 = 72 

 10 X 8 = 80 


